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BUSINESS COMMUNICATION — GENERAL
Paper : GE-2.1 Chg
(Module-II)
Full Marks : 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group-A

Answer any two questions.
Define Business Communication.
Distinguish between formal and informal communication.
What are the requisites of a valid notice?
Why video conferencing is so important in the modern business world?

Group-B

Answer any three questions.
State the principal barriers to communication.
Discuss the different elements of communication.
Draft a notice of the 9th Annual General Meeting of Indial Co. Ltd. with usual agenda.
Write a letter to the manager of a bank seeking a medium-term loan for your enterprise.

(a) Mention the elements of a communication.

(b) What are the socio-psychological and cultural barriers in corporate communication?

(a) Explain the role of communication in conflict resolution.

(b) Distinguish between inter-group and intra-group conflict.
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2021
COMPANY LAW — GENERAL
Paper : CC-2.1 Chg

Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.
Group-A
Choose the correct option in each of the following questions (answer any ten questions): 2x10
The definition of ‘‘Company’’ given in Section of Companies Act, 2013.
(a) 2(23) (b) 2(21)
(©) 2(22) (d) 2(20)
Maximum number of members in a private company—
(a) 50 (b) 100
(c) 200 (d) 150
A public limited company must have a minimum of directors.
(a) three (b) two
(c) four (d) six
The definition of company was introduced in Companies Act, 2013.
(a) Dormant (b) Private

(c) Public (d) Holding
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11.

12.

13.

14.

15.

(7) [R(znd Sm.)-Company Law-CC-2.1 Chg/CBcsj

The memorandum of association is a document of a company.
(a) financial (b) non-financial
(c¢) fundamental (d) scientific

defines the relation between the company and its members.
(a) Articles (b) Memorandum
(c) Partnership deed (d) Prospectus

Section 245 of Companies Act, 2013 is a new insertion which deals with the issue of ‘‘Doctrine of Ultra
Vires™’.

(a) False (b) Not applicable
(c) True (d) Partly true
company has no capacity to issue prospectus.
(a) Private (b) Public
(c) Dormant (d) Listed
Appointment of first Director is made by—
(a) Articles of Association (b) MOA
(c¢) Contract (d) Deed
In, general, the qualification of directors has not been in Companies Act, 2013.
(a) Specified (b) Given
(c) Alloted (d) None of these
A director can be removed from his office by the .
(a) Manager (b) Shareholders
(c) Debenture holders (d) Public
The Board of Directors derive their power from—
(a) Articles of Association (b) Memorandum of Association
(c) Board Meeting (d) Class Meeting
Preference shares cannot be redeemed unless they are—
(a) fully called up (b) fully paid up
(c) issued at premium (d) issued at discount

Right shares are those which are issued by newly formed company.
(a) True (b) Yes

(c) False (d) Partly true
Issue of Debentures with Voting Rights is not permissible.

(a) True (b) Partly true
(c) False (d) Wrong
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

The term ‘‘Share’” can be defined in Section—

(a) 2(80) (b) 2(83)
(c) 2(84) (d) 2(82)
is not required to hold AGM.
(a) Small company (b) One person company
(c) Private company (d) Public company

Requisite of valid meeting are .
(a) Chairman (b) Proxy

(¢) Quorum (d) All of these
Meeting of Directors is of types.
(a) 2 (b) 3
(c) 4 (d) 5
Provision for is given in Section 105 of the Companies Act, 2013.
(a) Proxy (b) Quorum
(c) Notice (d) Agenda
Group-B

Choose the correct option in each of the following questions (answer any twenty questions):

Limited company can be classified into company limited by and
(a) Shares, Guarantee (b) Private, Public

(c) Listed, Unlisted (d) Votes, Share

Subsidiary company never lost its seperate .

(a) Property (b) Legal entity

(c) Asset (d) Annual report

A company incorporated never , it has

(a) dies/ perpetual existence (b) acts/ no right

(c) acts/ some rights (d) closes/ mineral resources

Section 2(68) provides that private company includes

(a) Holding Company (b) Associate Company

(c) OPC (d) Public Company
of OPC may not include flow statement.
(a) Balance Sheet/ Fund (b) Income Statement/ Fund

(c) Financial Statement/ Cash (d) Trial Balance/ Fund

3x20
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Shareholders cannot be the principal of the Company. It was decided in the case—

(a) F. G. (Films) Ltd., (1953) (b) Jones V. Lipman, (1962)
(c) Gencor ACP Ltd. V. Dalby, (2002) (d) Gilford Motor V. Horne, (1933)
Document containing offer of securities for sale to be considered in prospectus.
(a) Abridged (b) Deemed
(c¢) Red-herring (d) Shelf
Corporate Identity Number (CIN) is included in the
(a) certificate of incorporation (b) certificate of commencement
(c) certificate of Practice (d) MOA
liability for mis-statements in prospectus is given in Sec.35 of Companies Act.
(a) Criminal (b) Civil
(c) Corporate (d) Social
Effects of Ultra Vires transactions:
(a) Injunction (b) Personal liability of Directors
(c¢) Void contracts (d) All of these
Approval of Central Government is required to change the name of a company.
(a) True (b) False
(c) Partially true (d) Not required
The ‘‘Alternation of memorandum’’ procedure is given in Section
(a) 10 (b) 11
(c) 12 (d) 13
Key managerial personnel as per Companies Act, 2013 excludes—
(a) Managing Director (b) CA
(c) CS (d) CFO
To in the management is one of the of Directors.
(a) conduct/ powers (b) participate/ rights
(c) attend/ powers (d) attend/ liability
Directors are described as and in the Company.
(a) agent, trustees (b) resident, member
(c) member, associate (d) None of these
Section of the Companies Act, 2013 define the term director.
(a) 2(54), Managing (b) 2(55), Board of

(c) 2(56), Women (d) 2(57), Resident
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38.

39.

40.

41.

42.

43.

44.

45.

46.

Duties of Director can be classified under and duties.

(a) official, formal (b) formal, unofficial

(c) statutory, general (d) official, unofficial

““A director may resign from his office by giving a notice in writing’’ — this statement is
(a) True (b) Partly true

(c) False (d) None of these

Premium on issue of shares can be used for

(a) Issue of fully paid Bonus Share (b) Distribution of Profit
(c) Transfer to General Reserve (d) Distribution of Reserve
Every buy back shall be completed within a period of from the date of passing of the special
resolution.

(a) 6 months (b) 3 months

(c) 1 year (d) 1T month

Shares can be issued by a public company through—

(a) Public offer (b) Private placement

(c) Rights/ Bonus Share (d) All of these

Profit on sale of forfeited shares is transfered to

(a) Capital redemption reserve (b) General reserve

(c) Debenture redemption reserve (d) Capital reserve

Which one of the following is known as Registered Capital?

(a) Paid up Capital (b) Uncalled Capital

(c) Authorised Capital (d) Reserve Capital

Reserve capital of a company is meant to be called only at the time of

(a) Incorporation (b) Formation

(c) Registration (d) Liquidation

AGM can be held during hours but exemption can be availed from Government.
(a) Working, State (b) General, State

(c) Business, Central (d) Office, State

Under Section 230 of the Companies Act, 2013, meetings of and holders are
held.

(a) Creditors, Debenture (b) Debtors, Share holders

(c) Creditors, Share holders (d) Debtors, Debenture
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48.

49.

50.
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Secretarial standard and are important for conducting corporate meeting.

(@ 2,3 (b) 1,2

(© 3,4 (d) 4,7

Every company shall hold the first meeting of the Board of Directors within days of the date
of its

(a) thirty, incorporation (b) twenty, commencement

(c) seven, starting (d) four, starting

A is a public company, number of members as on the date of meeting is not more than one thousand,

members personally present, shall be the quorum for a meeting.

(a) two (b) five

(c) fifteen (d) thirty

The e-voting shall remain open for not less than day and not more than days.
(a) one, three (b) four, five

(c) three, one (d) one, seven.
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COST AND MANAGEMENT ACCOUNTING -1 — HONOURS
Paper : CC-2.1Ch

Full Marks : 80

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group-A

Answer any four questions.

. What do you mean by direct cost and indirect cost? State any four objectives of introduction of cost
accounting system. 6+4

. Following information is available from the books of a company:

Annual requirement of material A : 12000 units to produce 3,000 units of product Z.

Every order costs ¥ 200 and inventory carrying charges are I 1.20 per unit per annum. Safety stock is 20 days
consumption and time required to get a new supply is 15 days.

Find (i) EOQ (ii) Ordering level (iii) Minimum level (iv) Maximum level.

(Assume 1 year = 300 effective days.) 4424242

. A company follows LIFO method in pricing the material issues. From the following data, prepare the Stores
Ledger Account for the month of June: 10
March 1 : Stock in hand 100 units @ I 6 per unit

Purchases: Issues:
March 12 : 200 units @ ¥ 8 per unit March 19 : 220 units
March 22 : 150 units @ I 7 per unit March 28 : 200 units

. Calculate total monthly remuneration of workers A and B on the basis of the following information for the
month of June, 2021: 5+5

(a) Standard production for each worker — 2000 units.

(b) Rate of wages —¥ 15 p.u.

(¢) Bonus —¥ 600 for each 2% increase in efficiency over 90%.

(d) Dearness allowance — 50% of piece wage.

(e) House rent allowance — 30% of piece wage subject to a maximum of ¥ 8000 p.m.

The units completed by the two workers were : A — 1920 and B — 1760 units.

Please Turn Over



R(2nd Sm.)-Cost & Mgmt. Acct.-I-H/CC-2.1ch/CBCS (2)

5. What do you mean by labour turnover? How can it be measured? State any four reasons of labour turnover.
3+3+4

6. Pass necessary journal entries in cost records for the following: 2x5
(a) Direct materials amounting to ¥ 38,000 issued to production
(b) Goods completed and transferred to finished stock ¥ 85,000
(¢) Materials purchased ¥ 42,000 in cash and ¥ 27,000 on credit
(d) Depreciation on factory building ¥ 7,000
(e) Factory overhead recovered ¥ 15,000.

7. Mr. Gupta, the owner of a taxi, provides you with the following information:

Cost ¥ 7,60,000 (useful life 2,00,000 km and residual value ¥ 40,000)
Driver’s Salary < 6,000 per month

Repair Charge % 7,200 per annum

Garage Rent < 1,200 per month

Road Tax and Insurance % 36,000 per annum

Diesel Consumption % 10 km per litre @ ¥ 90 per litre

Maximum sitting capacity 4

The taxi runs on an average 120 km per day for an average of 25 days a month. 20% of the distance has been

run without any passenger.

Calculate cost per kilometre. 10

8. A factory was running at 90% capacity and producing 9000 units at a cost of ¥ 90 per unit as per details given

below:
Materials %50
Labour 15
Factory Overhead ¥ 15 R 6 Fixed)
Administration Overhead ¥ 10 5 Fixed)
If it decides to run at 60% capacity what should be the total costs? 10

Group-B

Answer any two questions.

9. From the following particulars relating to production and sales for the year ended 31.03.21, prepare a
Statement of Cost and Profit showing therein (i) Raw materials consumed, (i) Prime cost, (iii) Factory cost of
production, (iv) Cost of goods sold, (v) Cost of Sales and (vi) Profit. Also show per unit Cost of Sales and
Profit.
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Raw materials purchased ¥ 3,00,000; Abnormal loss of materials ¥ 20,000 (scrap realised ¥ 15,000); Carriage
inward ¥ 15,000; Chargeable Expenses ¥ 80,000; Factory wages ¥ 2,40,000; Factory expenses T 1,60,000;
Administration expenses ¥ 84,000; Selling expenses I 44,000; Distribution expenses I 36,000; Sale of
finished goods (42,000 units) ¥ 11,55,000.

01.04.20 31.03.21
Other balances : Raw Materials 3 20,000 3 35,000
WIP T 32,000 I 24,000
Finished Goods (at cost) ¥ 1,63,800 4 ?
(9,000 units) (7,000 units)
[Note : FIFO method is followed for valuation of Finished Goods.] 20

Sunlight Engineering Company has two production departments A and B, and also, two service departments
X and Y. Following are the particulars of a month. Calculate the labour hour rate for each of the production
departments: 20
Indirect materials: Dept. A ¥ 1,700; B ¥ 1,000; X ¥ 800 and Y ¥ 400; Indirect wages ¥ 9,000; Rent ¥ 8,000;
Canteen expenses 3 1,800; Lighting ¥ 2,200 and Depreciation ¥ 2,000.

Other information:

Dept. A | Dept. B | Dept. X | Dept. Y
No. of workers 20 25 2 3
Area (Sq. meter) 200 300 100 200
Direct wages (3) 8,000 | 10,000 2,000 6,000
No. of electric points 50 40 10 10
Value of fixed assets (3) 50,000 | 60,000 | 20,000 30,000
Days worked (8 hours each) 25 26 24 26

The expenses of Service Departments X and Y are to be apportioned as below:

Dept. A | Dept. B | Dept. X | Dept. Y
Dept. X 50% 30% - 20%
Dept. Y 40% 50% 10% -

The product of a manufacturing concern passes through two processes A and B and then to finished goods.
From the following information prepare Process A Account, Process B Account, Normal Loss Account,

Abnormal Loss / Gain Account: 6+6+2+6
Process A Process B

Materials introduced (in tons) 1,000 70

Cost of materials per ton (3) 125 200

Output (tons) 830 820

Normal Scrap (% of total input of the process) 15 10

Scrap value per ton () 80 140

Direct wages (3) 28,000 20,000

Manufacturing expenses (3) 8,600 10,720

Administration & Selling expenses 3 4,800

Please Turn Over
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12. The following are the particulars in respect of a Contract for the year ended on 31.03.2021:

)
Materials sent to Site 3,00,000
Wages paid 3,60,000
Wages unpaid 6,000
Other Expenses 52,000
Plant Installed at Site 4,00,000
Materials returned to Stores 10,000
Materials lying unconsumed 16,000
Materials stolen from Site 20,000
Work Uncertified 22,000
Cash received from Contractee 7,20,000
Insurance Claim admitted for Materials stolen 14,000

Plant is subject to depreciation @ 7%2% and cash has been received to the extent of 90% of work certified.

Prepare Contract Account for the year ended on 31.03.2021.

20
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E-COMMERCE
Paper : GE-2.1 Chg
(Module-I)
Full Marks : 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

Group-A
(Each question carries 2 marks)
Answer any five questions. 2x5

. Find out the correct statement out of the following options:

(a) E-Commerce and E-Business has got no relation.
(b) E-Business and E-Commerce are synonymous.
(c) E-Business is a subset of E-Commerce.

(d) E-Commerce is a subset of E-Business.

. Which model of E-Commerce currently covers the largest size of E-Commerce revenues over other

models?
(a) B2B (b) C2C
(c) B2C (d) C2B.

. In the arena of E-Commerce activities, building and sustaining long-term relationship with customers

is the aim of:
(a) Customer Retailing Management (b) Electronic Customer Relationship Management
(c) Customer Relationship Management (d) Customer Resource Management.

. Out of the following which is not a features of Supply Chain Management?

(a) Inventory Management

(b) Logistic Management

(c) Integration of different marketing & other services
(d) Procurement Managment.

. Out of the following, for which card one has to made advance payment?
(a) Gold Card (b) Debit Card
(¢) Credit Card (d) Smart Card.

is a software-based system that securely stores users’ payment information and passwords
for numerous payment methods.
(a) ATM (b) E-Cheque
(c) Digital Wallet (d) Credit Card.

Please Turn Over
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7. Which one of the following is not falls under the ERP Human Resource Management Module?
(a) Segment Management (b) Human Resource Information System

(c) Training and Event Management (d) Payroll Accounting.

8. What is ‘Social Media Optimization’?
(a) Creating content which easily creates publicity in a social media
(b) Hiring people to create content for social media
(c) Writing clear content

(d) Creating short content which is easily indexed.

9. IMPS stands for
(a) Important Payment Services (b) Immediate Payment Services

(c) Institutional Payment Services (d) Integrated Payment Services.

10. Web 2.0 refers to

(a) Wide Area Network (b) World Wide Web
(c) Wide Wide Web (d) World Wide Network.
Group-B

(Each question carries 3 marks)

Answer any ten questions. 3x10

11. In respect of area of application, which one is correct?

(a) E-Business only covers business transactions such as buying and selling of goods and services over
the internet.

(b) M-Commerce is said to be the next generation wireless E-Commerce that needs no wire and
plug-in-devices.

(c) E-Advertising is said to be the next generation E-Commerce that needs no wire and plug-in-devices.

(d) Mass Media is said to be the next generation E-Commerce that needs no wire and plug-in-devices.

12, allows a business application on the computer of one organization to communicate
directly with the business application on the computer of another company.

(a) EDI (b) Protocols
(c) Standards (d) Business applications.

13. B to G E-Commerce model refers to
(a) any business organization that sells its goods or services to customers over internet.
(b) any business organization that sells its goods and services to Government over internet.
(c¢) the communication and transaction between business and Government over internet.

(d) any business organization that sells its goods and services to other business organization.



14.

15.

16.

17.

18.

19.

(3) (R(2nd Sm.)-E-Commerce-(GE-2.1 Chg)/CBCS)

In E-Commerce activities buyer-seller relationship characterized by a close co-operative relationship
where the seller adopts to meet the customer’s needs without expecting much adaptation or change on
the part of the customer in exchange is referred to:

(a) Buyer-Seller relationship is transactional (b) Customer is the King

(c) Seller is the King (d) None of these.

The retaintion of customer is an essential strategy in E-CRM because

(i) Existing customers generally induce others to buy products from the same digital shop where from
they brought for their own.

(i1) Loyal customers are comparatively high price sensitive.

(iii) Cost of wining a new customer in six times more than retaining an existing customer.

(iv) A strong relationship with the existing customer throughout customers’ life cycle makes customer
comparatively less disagreeing.

(@) (1), (i) & (iv) (b) (1), (i) & (ii1)

(¢) (i), (iii) & (iv) (d) (@), (i) & (iv)

Customer acquisition in E-CRM means

(a) Identifying the appropriate customer to target.

(b) Encouraging customer to purchase further products through personalised web and e-mail
communications.

(c) Attracting customers in the target profile to your portal and encouraging them to click the button
‘Buy’.

(d) Pursuing customers to purchase more expensive products which is also available in the same
category.

Supply Chain Management (SCM) is the process of

(a) SCM accommodates only planning of all activities involved in supply of goods only.

(b) SCM accommodates the planning and management of all activities involved in sourcing,
procurement, conversion and logistics.

(c) SCM accommodates only planning and management of all activities involved in supply of goods
and services.

(d) None of the above.

What does NEFT and NCPI stands for?

(a) National Electronic Fund Transmission; National Payment Company of India.
(b) National Electronic Fund Transfer; National Payments Corporation of India.
(c) National Electronic Fund Transaction; National Payment Co-operative of India.
(d) National Electronic Fund Terms; National Payment Co-operation of India.

A digital signature is .

(a) Bit string giving identity of a correspondent

(b) Unique identification of a sender

(c) An authentication of an electronic record by tying it uniquely to a key only a sender knows
(d) An encrypted signature of a sender.

Please Turn Over
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20.

21.

22.

23.

24.

25.

E-Cash means

(a) To transfer money between different parties over a network
(b) To transfer cheque between different parties over a network
(c¢) To credit money between different parties over a network
(d) To credit cheque between different parties over a network.

integrates all the functional areas and operations. is not just a mere transfer
of information across an organization but a total transformation with everyone contributing their best.
(a) Enterprise Resource Planning (ERP); Management Information System (MIS)
(b) Enterprise Resource Planning (ERP); Total Quality Management (TQM)
(c) Enterprise Resource Planning (ERP); Computer Integrated Manufacturing (CIM)
(d) Enterprise Resource Planning (ERP); Enterprise Resource Planning (ERP).

Which of the following statement is false?

(a) ERP systems implementation is a complex organizational activity.

(b) ERP systems are set to proliferate locally.

(c) ERP systems implementation requires strong project management oversight.
(d) ERP systems provide improved and added functionality for an organization.

The and manage the supplier relation, monitor the vendor activities and the
supplier quality in an organization.

(a) Supplier maintenance; Customization processes

(b) Supplier management; Control processes

(c) Supplier maintenance; Control processes

(d) Supplier management; Customization processes.

Each ERP software module corresponds to a major —
(a) functional areas of the organisation (b) problems of the organisation
(c) purchases of the organisation (d) deficiencies of the organisation.

The downstream part of the supply chain includes all the activities involved in
(a) reaching to the origin of the material.

(b) in-house processing of inputs.

(c) after-sale services.

(d) delivering products to final consumers.
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Single answer type questions (1 to 25)

Write the correct answer of the following questions in the answer script (1 to 25). 1x25

. The term ‘Ecology’ was first coined by—

(1) Arthur G. Tansley (2) Ernst Hacckel (3) E. P. Odum

. Environmental movement aimed at conservation of forest in Kerala is known as—

(1) Chipko Movement (2) Silent Valley Movement (3) Appiko Movement

. Which metal is responsible for “Itai Itai” disease?

(1) Arsenic (2) Mercury (3) Cadmium

. In which ecosystem the Pyramid of number is inverted?

(1) Marine ecosystem (2) Parasitic food chain (3) Grassland

. The permissible limit of Arsenic in groundwater is—

(1) 0.03 mg/lit (2) 0.04 mg/lit (3) 0.01 mg/lit

. The gas responsible for Bhopal gas disaster is—

(1) Methyl Isocyanate (2) Sulphur dioxide (3) Carbon dioxide

. The most important component of Natural gas is—

(1) Co, () SO, (3) CH,
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8. The magnitude of Earthquake is measured by which of the following scale?

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

(1) Kelvin (2) Fahrenheit

. The largest Ozone hole lies in the sky above—

(1) Africa (2) Australia

Shigella pathogen transmits diseases through—

(1) Water (2) Air

Sundarbans are abundant in having—

(1) Xerophytes (2) Mangroves

Which of the following animal is not naturally found in India?
(1) Giraffe (2) Rhinoceros

Terrestrial part of earth is called—

(1) Biosphere (2) Lithosphere

The main source of oxygen in atmosphere is—

(1) Excretion (2) Respiration

(3) Richter.

(3) Antarctica.

(3) Vector.

(3) Nuclear Energy.

(3) Red Panda

(3) Stratosphere.

(3) Photosynthesis.

The study on the effects of chemicals on living animals and plants is known as—

(1) Toxicology (2) Autecology

Which of the following is the vector of Dengu fever?
(1) Female Anopheles (2) Female Culex

(3) Ethology.

(3) Female Aedes

Control of pest population by natural predators, parasites or pathogens is called—

(1) Biological pest control (2) Integrated pest management
Ecotone is—
(1) Ecosystem (2) Biome

Which one of the following is not a decomposer?

(1) Bacteria (2) Fungus

Chemical or biological agents that cause birth defect are called—

(1) Mutation (2) Teratogen

Vermicompost is produced with the help of—

(1) Ants (2) Flies

(3) Chemical pest control.

(3) A zone between two ecosystems.

(3) Plankton

(3) Transcription.

(3) Earthworms.
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Which one of the following is a biofertilizer?

(1) Urea (2) Blue-green algae (3) Rock phosphate

Confinement of species in a particular area is described as—

(1) Exotic (2) Endemic (3) Epidemic

The study of human population is called—

(1) Demography (2) Sampling (3) Diversity

The novel Aranyer Adhikar is written by—
(1) Bibhutibhushan Bandyopadhyay (2) Sunil Gangopadhyay (3) Mahasweta Devi

Read the following passage carefully and only write the correct statement/statements
in your answer script (26-30) : 10x5

Passage - 1

The main characteristic feature of energy flow is that it is reduced in every step. According to
Raymond Lindemann law, the transfer of food energy from one trophic level to another trophic level
remains 10% on an average. Plants can use 1% of the solar energy. The Primary Consumers (herbivores)
can use 10% of the energy from the plants. Secondary Consumers can use 10% of the energy from
Primary Consumers.

Statement - 1 : Plants can utilize only 10% of the solar energy.
Statement - 2 : The essential feature of energy flow is that it is reduced in every step.

Statement - 3 : Raymond Lindemann’s law states that transfer of food energy from one trophic level
to another remains 10% on an average.

Passage - 2

Atmosphere is the reservoir of free gaseous nitrogen as it constitutes nearly 78 per cent of the atmosphere
by volume. The gaseous nitrogen in the atmosphere is converted to ammonia (NH;) or oxidized to
nitrate (NO;) forms at different stages. Nitrogen fixing bacteria and blue-green algae play significant
role in converting the gaseous nitrogen into organic compounds and finally to nitrates soluble in water.
Nitrates are utilized by plants for the synthesis of amino acids and proteins. When plants and animals die
or their remains are decomposed by various organisms, the nitrogen is again released in the atmosphere.

Statement - 1 : Nitrogen fixing blue-green algae can convert the gaseous nitrogen into organic
compound.

Statement - 2 : Plants can utilize nitrites for synthesizing proteins.

Statement - 3 : The free gaseous atmospheric nitrogen is converted to nitrates through different stages.
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Passage - 3
28. Agriculture is the most widespread land cover in South Asia. Nearly 45% of the total land surface is

29.

30.

utilized for crop-lands or agriculture in South Asian countries. In India nearly 57% of land is utilized for
agriculture. The same is true for Bangladesh. These figures are higher than the world average, which is
only 11% land under agriculture. China on the other hand accounts for only 10% crop-land, in proximity
to world average. Geographical environment rather than population pressure determines the use. The
dominance of agricultural land use in India and Bangladesh is related to the extent of riverine plains,
whereas large part of China is mountainous and arid. In China nearly 43% of land surface is kept as
permanent pasture, whereas India and Bangladesh record 4 and 5% of land as permanent pastures
respectively. Many developed countries like U.S.A., U.K. and Australia allocate more land to pasture
than to crop farming.

Statement - 1 : Nearly more than half of the total land area in India is used for agricultural purpose.
Statement - 2 : In China about 43% of land area is kept as permanent pasture.

Statement - 3 : USA allocates more land for agricultural purpose than for pasture.
Passage - 4

The term monsoon has been derived from the Arabic word mausin (Urdu mausam) which means season.
Hence monsoon is a seasonal or periodic wind. Unlike planetary winds the direction of monsoon
circulations changes in alternating seasons. The monsoon winds are mostly confined in the tropics covering
wide areas ranging from 25°S to 35°N latitude and from 45°W to 140°E. The monsoon winds have been
ideally developed over India. So, India is sometimes referred as land of monsoon.

Statement - 1 : Arabic word Mausin means season.
Statement - 2 : The Monsoon circulation occurs like planetary winds.
Statement - 3 : Monsoon winds are confined in the tropics covering the region between 45°W to
140°E.
Passage - 5

Salinity tolerant forest ecosystem is called mangrove. It is observed in the deltas of tropical and subtropical
water-flooded low lands. The mangrove forests of India are located in the well-protected river estuaries,
in tidal wave flooded canals and in saline wetlands. Sunderban of West Bengal, North Andaman and
Nicobor islands, Godavari delta, the estuary of the Krishna river, delta of the Mahanadi are designated
as mangrove region. The trees important as mangrove plants are Garan, Geoa, Garjan, Keora, Sundari
etc. Tigers, crocodiles, deer, prawns, crabs, water insects etc. reside in mangrove forests.

Statement - 1 : Mangroves are observed in the deltas of tropical and subtropical water flooded low
lands.

Statement - 2 : Godavari delta and estuary of Krishna are the designated mangrove covered areas.

Statement - 3 : Important plants of mangrove forest are teak, sal etc.
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All the questions are compulsory [Choose the correct option from the given options]. 2x25

1. One of the reasons behind the depletion of groundwater table is
(a) water and soil pollution.
(b) change in monsoon timing.
(c) increase in concretized land surface and consequent loss of water percolation.
(d) None of the above.

2. Who led the Green Revolution in India?

(a) Medha Patkar (b) M.S. Swaminathan
(c¢) Rajendra Singh (d) Ramchandra Guha.
3. Which of the following lands are suitable for setting up industries from the viewpoint of environment?
(a) Agricultural land (b) Wasteland
(c) Wetlands (d) Forest.

4. Which of the following relationship is correct?
(a) Stockholm Conference — 1972 (b) Ramsar Convention — 1992
(¢) Rio Earth Summit — 1997 (d) Paris Convention — 2001.

5. Which of the following relationship is correct?
(a) Johad — Soil conservation (b) Johad — Water conservation

(c) CNG — Water pollution (d) Bishnoi — Agriculture.

6. The disease caused by mercury poisoning is known as
(a) Itai-itai (b) Encephalitis
(c) Minamata (d) Asbestosis.

7. Which of the following is a silent zone?
(a) Market area (b) Residential area

(c¢) Educational institutional area (d) Office area.

8. Environmental (Protection) Act was passed in the year of
(a) 1988 (b) 1986
(c) 1992 (d) 2002.
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The ecosystem of flowing water is called
(a) Lentic (b) Lotic
(c) Neritic (d) Limnetic.

Which of the following relationship is correct?
(a) GPP = NPP+R (b) NPP = GPP+R
(c) R = NPP+GPP (d) GPP = NPP.

How many biogeographical regions are there in India?
(a) 9 (b) 10
() 11 (d) 12.

Sundarbans is a
(a) Biosphere reserve (b) Ramsar site
(c) National Park (d) All are correct.

The number of biodiversity hotspots in India —
(a) 2 (b) 3
(c) 4 (d) 6.

Which of the following is an endangered species?
(a) Kangaroo (b) Bat
(c) Royal Bengal Tiger (d) Frog

In which state of India the Asian Lions are found?
(a) West Bengal (b) Gujarat
(c) Maharashtra (d) Assam.

The main responsible gas for acid rain is
(a) Oxygen (b) Carbon dioxide
(c) Hydrogen sulfide (d) Sulfur dioxide.

Which of the following relationship is correct?

(a) Photochemical reaction — Volatile Organic Compound
(b) Carbon dioxide — Secondary pollutant

(c) CFC — Stone cancer of Tajmahal

(d) Suspended Particles — Global warming.

What does the unit decibel measure in case of noise pollution?
(a) The wavelength of sound (b) Type of noise

(c) Spread of noise (d) Intensity of noise.
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19. What are the main three ‘R’s of solid waste management?
(a) Rot — Remove — Rethink (b) Reduce — Reuse — Recycle

(c) Reduce — Recovery — Rediscovery (d) Refuse — Remove — Rot.

20. What is measured by BOD?
(a) Water pollution (b) Air pollution
(c) Soil pollution (d) Noise pollution.

21. Which of the following diseases is caused by air pollution?

(a) Arsenocosis (b) Blackfoot disease
(c) Silicosis (d) Polio.
22. In which section/s of the Constitution of India the protection of environment is included?
(a) 37A & 51A(g) (b) 48A & 51A(g)
(c) 47C & 65A (d) 41G & 89A

23. Which is the reason behind increase in life expectancy of the people of a country?
(a) If population is declining
(b) If disease related mortality and child mortality is reduced
(c) If it becomes well educated

(d) If natural disasters can be avoided.

24. Chernobyl disaster is a
(a) Nuclear accident (b) Natural disaster

(c) Pollution related incident (d) Political incident.

25. What is the unit of measuring earthquake?
(a) Percentage (b) Decibel
(c) Vibrogram (d) Richter scale.
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(Marketing Management)
Module - 1

Group - A

Choose the correct option in the following questions (any five).

1. — is the father of modern marketing.

(A) Maslow (B) Bernard
(C) Drucker (D) Philip Kotler.

2x5
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2. Which of the following is not an element of the marketing mix?
(A) Target market (B) Product
(C) Distribution (D) Promotion.

3. Market consists of

(A) Potential buyers (B) Actual buyers
(C) Both (A) and (B) (D) None of these.

4. Marketing intermediaries include
(A) Agents (B) Retailers
(C) Financial intermediaries (D) All of these.

5. Consumer decision making process starts with
(A) Recognition of need (B) Searching of information

(C) Evaluation of alternatives (D) None of these.

6. Type of product entities include
(A) Events (B) Places
(C) Experiences (D) All of these.

7. Distribution Channels include
(A) Distributors (B) Wholesalers
(C) Retailers (D) All of these.

8. Setting a price below that of the competitors for quickly gaining market share is called
(A) Dual pricing (B) Skimming pricing
(C) Penetration pricing (D) Competitive pricing.

9. The basic objective of advertising is to
(A) inform the consumers about the product
(B) collect information from the consumers
(C) distribute products to the consumers
(D) all of the above.

10. Which of the following is not related to sales promotion?
(A) Sales contests (B) Free coupons
(C) Free gifts (D) Public relations.
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Choose the correct option in the following questions (any ten). 3x10
Marketing is a
(A) Managerial process (B) Socio-managerial process
(C) Dynamic process (D) All of these.

The key objective of modern marketing concept is
(A) Sales maximisation (B) Profit maximisation

(C) Customer satisfaction (D) Wealth maximisation.

provides very specific information about different populations such as their age, gender,
family status and education.

(A) Demographic environment (B) Political environment

(C) Economic environment (D) Social environment.

Consumer behaviour analysis helps in

(A) predicting the future market trend (B) developing new product
(C) selecting target market (D) all of the above.
In___ stage, a product is well established in the market.

(A) Introduction (B) Maturity

(C) Growth (D) None.

is the process of distinguishing a product or service from the competitor’s products as
well as a firm’s own products.

(A) Product positioning (B) Product promotion
(C) Product differentiation (D) Product packaging.

Pricing Policy has a strong impact on

(A) Sales and profitability (B) Sales and distribution
(C) Production and sales (D) None.

The actions or activity gathering information about consumers’ needs and preferences is called

(A) Market Testing (B) Market Research

(C) Commercialisation (D) Market Screening.
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19. The process of introducing a new product into the market is called

(A) Product development
(C) Test marketing

20. Branding involves
(A) creating a unique name

(C) maintenance of standard of a product

21. The objective of packaging is not related to
(A) providing physical protection of product

(C) maximising production

22.
Cycle.

(A) Sales promotion

(C) Personal selling

23.
(A) Brand name
(C) Brand mark

24. Physical distribution provides
(A) Place utility

(C) Form utility

25. Distribution channels do not help to
(A) improve sales

(C) widen the market

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

Which of the following can be legally protected?

(B)
(D)

(B)
(D)

(B)
(D)

Commercialisation

Product screening.

creating image for a product

all of the above.

enabling marketing of product

conveying message of product.

is a cost effective promotional tool when a product is in the decline stage of Product Life

Direct marketing

Adpvertising and Publicity.

Trademark

Package.

Time utility

Place and Time utility.

improve the product

access the consumers.

(Human Resource Management)
Module - 2
Group - A

Choose the correct option in following questions (any five).

26.
(A) Personnel aspect

(C) Industrial relations

(B)
(D)

2x5

The scope of Human Resource Management (HRM) includes

Welfare aspect
All of the above.



27.

28.

29.

30.

31.

32.

33.

34.

35.

R(2nd Sm.) - Mktg. Mgmt. & Hum. Res. Mgmt.
(11) CC 2.2 Chg / CBCS

)

HRM is not related to
(A) job analysis (B) sales promotion

(C) job enrichment (D) job incentives.

Human Resource planning is done for

(A) improving the capacity of human resources
(B) reaching the organisational objectives

(C) attaining economy in recruitment process
(D) All of the above.

is the process of elimination of unsuitable candidates.
(A) Recruitment (B) Placement
(C) Selection (D) Induction.
Recruitment is the process of

(A) elimination of right candidate (B) procuring application for promotion

(C) creating a pool of potential employees (D) All of these.

is the process of learning the skills to do a particular job.
(A) Training (B) Development
(C) Both (A) and (B) (D) None of these.

Which of the following is not a part of Human Resource Development system?

(A) Training (B) Career Planning

(C) Manpower Planning (D) Organisational Development.
include the person’s main duties, responsibilities and working conditions.

(A) Job specification (B) Job description

(C) Job analysis (D) Job profile.

Job specification is a part of

(A) job analysis (B) job design
(C) job enrichment (D) job description.

Collective Bargaining is a process of negotiation relating to
(A) determining working condition and terms of employment
(B) regulating relations between employers and workers
(C) Both (A) and (B)

(D) None of these.
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Group - B

Choose the correct option in following questions (any ten).

The scope of human resource management includes
(A) Recruitment of employees (B) Employee Training
(C) Retirement of employees (D) All of these.

The role of human resource development is to

(A) improve overall performance and ability of the employees

(B) develop skills and knowledge of employees

(C) provide maximum opportunities for employee’s personal growth

(D) All of the above.

Which is not a part of human capital?

(A) Social capital (B) Financial capital
(C) Intellectual capital (D) Emotional capital.
Performance appraisal relates to which managerial function?

(A) Organising (B) Planning

(C) Controlling (D) Directing.
Human resource plans are not related to

(A) Production plans (B) Personnel plans

(C) Compensation plans (D) Training and development plans.

3x10

The process of forecasting the future human resource requirement of the organisation is called

(A) Human Resource Planning

(C) Human Resource Development (D) Human Capital Management.
refers to the successful allocation of a person to a job.

(A) Induction (B) Placement

(C) Training (D) Orientation.

Recruitmentisa __ process.

(A) Positive (B) Negative

(C) Both (A) and (B) (D) None of the processes.

(B) Human Resource Management
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Induction refers to
(A) Training programme (B) Organisational awareness
(C) Interview process (D) Assignment of duties.

Employees are promoted to higher post on the basis of

(A) merit (B) seniority

(C) Both (A) and (B) (D) None.

Which training method allows employees to explore realistic situations by interacting with other
employees?

(A) Orientation programme (B) Vestibule training

(C) Role playing (D) Transition analysis.

The method of training in crafts, trades and technical areas is known as

(A) Mentoring (B) Apprenticeship training
(C) Vestibule training (D) Coaching.

assesses the job and not the job holder.
(A) Job description (B) Job evaluation
(C) Job specification (D) None of these.
Employee compensation and benefits policy are

(A) tangible rewards (B) intangible rewards
(C) Both (A) and (B) (D) None of these.

An effective Industrial Relations is required to ensure
(A) higher production (B) increased morale

(C) reduced industrial dispute (D) all of these.



